Tutorial - 1-02-d

Question 1

5.2 Find the Thevenin equivalent circuit for a dc power supply that has a 30-V terminal voltage
when delivering 400 mA and a 27-V terminal voltage when delivering 600 mA.

Question 2

5.4  Find the Norton equivalent circuit for the power supply of Prob. 5.2 if the terminal voltage is
28 Vinstead of 27 V when the power supply delivers 600 mA.

Question 3

5.5 What resistor draws a current of 5 A when connected across terminals a and b of the circuit
shown in Fig. 5-107?
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Question 4

5.7 Find the Thevenin equivalent circuit at terminals a and h of the circuit with transistor model
shown in Fig. 5-13.
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Question 5

5.20 In the circuit of Fig. 5-28, what resistor R, will absorb maximum power and what is this power?
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Question 6
5.23 For the circuit shown, use superposition to find Vn referenced positive on terminal a.
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Question 7

5.30 Use a A-to-Y transformation in finding the currents /3, I;, and /5 for the circuit shown in Fig. 5-34.

L 40
—

AVAVAY

V=
I 60
A NV

0V =
L E0
AYAYAY,
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